RIEFEH

BRIREREE
EE 5 - DIN 2079
EH 23100.
EmER
=y % _ N
- - B EERRIE DIN 2079 ®i&.
ME
- ERWELE , XEEL, FB, HE
&
dg dg dg
cn| o a o o
A c g & i
V =
|97 d, d;
) "] S
22 l5.01
~ o~ ~N
n ¥a] n
k K k
picture 1 picture 2 picture 3
HES &}
F#ENo. R~ R4 A i R
k b, d; ds g h Is ISO 4762
h5 0,1
[mm] [mm] [a]
E AR EETE nos. 30~60 , HRXA-HHHK 1
30 16,5 15,9 6,4 10,4 6,2 16,0 - M 6x16 26 | 23100.0030
40 19,5 15,9 6,4 10,4 6,2 16,0 - M 6x 16 32 | 23100.0040
45 19,5 19,0 8,4 13,5 8,3 19,0 - M 8x20 40 | 23100.0045
50 - 55 26,5 25,4 13,0 19,0 12,3 25,0 - M12 x 25 88 | 23100.0050
60 455 25,4 13,0 19,0 12,3 25,0 - M12x 25 181 | 23100.0060
EAREEHTE no. 60 HXB - K 2
60 | 455 | 254 | 130 19,0 12,3 25,0 - M12 x 25 140 | 23100.0160
A A EETE nos. 30~50 , HRXC -5 3
30 13,5 15,9 6,4 10,4 6,2 24,5 55 M 6x25 32 | 23100.0230
40 16,5 15,9 6,4 10,4 6,2 24,5 7,0 M 6x 25 40 | 23100.0240
45 17,5 19,0 8,4 13,5 10,0 26,0 75 M 8x 25 48 | 23100.0245
50 24,0 254 13,0 19,0 12,3 29,0 11,0 M12 x 30 90 | 23100.0250
ENHALDER e

FIBFE: 3.2.2024


http://halder.com/tw/23100.0030
http://halder.com/tw/23100.0040
http://halder.com/tw/23100.0045
http://halder.com/tw/23100.0050
http://halder.com/tw/23100.0060
http://halder.com/tw/23100.0160
http://halder.com/tw/23100.0230
http://halder.com/tw/23100.0240
http://halder.com/tw/23100.0245
http://halder.com/tw/23100.0250

REEH
RRIRIEAEE

P& R &4

LAS

A RoHS

FEET 2011/65/EU FIEH 2015/863

& SVHC #&

TEi#iB 0.1% wiw B SVHC Y& - 8% 2024 £ 1 A23 B# SVHC jEE.

T& 65 RRRME

TaIE 65 RIRRYE

https://www.P65Warnings.ca.gov/

TEEREY

AERTERARMRREIHNARPEERNEAREER EREY NYE , fHIME, &, e[E.

HEM 22
ENHALDER FIBAE: 3.2.2024



